Inter-Academy Integrated Projects
Trimester 1.0 Week 6.0 Day 2.0

Worksheet #1 6S(-

Directions: A '
:_Answer all of the questions below based on the plan diagram provided.
. Side 1
; Sid:Y;r: ; ;t;a:k' ". ''''' - Property size 150 feet deep x 100 feet wide
|. il £ 2 LE I K T 03,-vp--‘r'.g.3£. ............ J ~.
| Front ' Rear ' Front Setback 20 feet
Street 1  Yard ?m K | Next
| setback b Buildable Area : S:;:;dc ) ; Yord Rear Setback 30 feet
t. —memm e E et b o diddenaudlba s ttigenccaneimasmas J
! }  Side Yard 2 Setback | Side 1 Setback 10 feet
S RO SR S AT B o oo . o S g8 Side 2 Setback 15 feet
Side 2

, 1. What is the total square footage of the lot?
NCEA = LENCGH = \WIDTH

2. After considering the setbacks what is the total buildable area?

SO-(20+30)= ISO ~SO= /0T
i (104 1S )= 15D—1S = #5

NT s
P ea ' = Iopx3s' =350
3. The property owner wishes to build a fence along three edges of the property including the
two sides and the back? How long is the fence?

PERITBAEIL = ISO'+ SO " + 100" 248N +|0D = SO0’

4. If the Open Space Ratio (OSR) is 20 or 20% of the lot? What is the open space requirement?

OSR. * Lot ALEA
10 x 5,000 ::3,(_33)52f .

5 Considering the setbacks and the O5R above which of the two is more restricitve and
what is the maximum allowable footprint of the building?

- TRE S~ o ALKNRPOSLE SO
SET BALk— IS BIGLHEL YRR S F o B T 3{»,?
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Worksheet #2
Directions: Answer all of the questions below based on the plan diagram provided.
Side 1
g s s g - ———- — | Property size 250 feet deep x 120 feet wide
' ' Side Yard 1 Setback j
i ot A LTI DA S DAL S Y SR AL L A L
Street « Yord | Setbock Builidable Area Yard ; v:: Rear Setback 50 feet

Side 1 Setback 15 feet
Side 2 Setback 15 feet

1. Whatis the total square footage of the lot?
A= LAW W 250 <120 = SO,

2. After considering the setbacks what is the total buildable area?
1LS0- (Yo 1sD) = /| FOUTPRINY_
( YO +SD) LD NoEn - [CO %) - TR
2o -(30) = 10

3. The property owner wishes to build a fence along three edges of the property including the
two sides and the back? How long is the fence?

AEO +I)SO 120 =616

4. If the Open Space Ratio (OSR) is 35 or 35% of the lot? What is the open space requirement?

(S > LOT Arew
35 < 3p000 =losoD d

5. Considering the setbacks and the OSR above which of the two is more restricitve and
what is the maximum allowable footprint of the building?
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Worksheet #3
Directions: Answer all of the questions below based on the plan diagram provided.
Side 1 .
D R SR A e v e e - Property size 100 feet deep x 45 feet wide
' : Side Yard 1 Setbock ! j
| { Fom ¥ -.-,mg Rear | Front Setback 10 feet
. Street 1 Yarg 3 Setbock Buideble Area 3 vard 1 N Rear Setback 15 feet
: ' Setback . | - & Setback |
] il A s o &
| ,' i Side Yord 2 Setback | ! Side 1 Setback 5 feet
""" S e S R e @ i s e Side 2 Setback 5 feet

1. What is the total square footage of the lot?
Azl —® 0O ~ 4S8 = 4,55D

2. After considering the setbacks what is the total buildable area?

D - (102F) —p /00 -25 = 1S
4s — (16) —w 3§

3. The property owner wishes to build a fence along three edges of the property including the
two sides and the back? How long is the fence?

100" + 100" + 4 = QU

4. If the Open Space Ratio (OSR) is 50 or 50% of the lot? What is the open space requirement?
OS2 A LOTY AREN |

5. Considering the setbacks and the OSR above which of the two is more restricitve and
what is the maximum allowable footprint of the building?
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Property size 100 feet deep x 40 feet wide

l : '
Stnct !' ’;""" g ikiionion ’""ﬂ'f." .l;e.;; N ‘! Front Setback 15 ¢
! ard ;-- Sethock Bulidoble Areq : Yard s ':::; Rear Setback 20 f:::
---------{’*«’--~'-'-----v---~..-a.;..;..;-: ............. r
g. o -i _Si:k— Yfr: { S:t?tk- ! Side 1 Setback 10 feet
— e, ——— Side 2 Setback 5 feet
1. Whatis the total square footage of the Jot?
L= | <"\

3. The property owner wishes to build a fence along three edges of the property including the |
two sides and the back? Hm:v long is the fence? 1
joC T+ /00 F 4D = QL/D :

: , >
4. If the Open Space Ratio (OSR) is 30 or 30% of the lot? What is the open space requirement:
35 x 4,00 = )00 d CSR

] ] stricitve and
idering the setbacks and the OSR above which ?f .the?two is more restr
” bicl’),:tlis the maximum allowable footprint of the building:
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